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Total

Base Male Female 18 to 
24

25 to 
34

35 to 
44

45 to 
54 55+ ABC1 C2DE North Midlands East London South Wales Scotland

Taking everything into account, do you think the 
death of Princess Diana probably was or was not 
an accident?

Unweighted Base 2006 903 1103 212 279 312 356 847 1074 932 476 293 219 251 493 115 159
All GB adults 2006 963 1043 241 330 362 371 702 1103 903 493 329 193 257 459 100 175

Probably was an accident 50% 55% 47% 46% 55% 53% 53% 47% 56% 44% 46% 47% 59% 46% 57% 41% 55%
Probably was not an accident 36% 34% 38% 31% 34% 35% 37% 39% 33% 40% 42% 38% 30% 37% 29% 41% 33%

Don’t know 14% 12% 15% 23% 12% 11% 10% 14% 11% 16% 12% 14% 11% 17% 13% 19% 13%
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